TeX + ETEX using Times and txfonts

Displayed equations:
exp(x) = Z R [(z) = f e dr.
=0 0

Inline equations: exp(x) = X2, X/, T(2) = fooo et dr.

b
Largeparentheses:( andid ) by =( €1 )
ap axp axs bs @
An example from the AMS “testmath.tex” file:

tS
fh,s(x» y) = SEx,yf Lx,yg(su)‘:p(x) du
0

—h f Lee(pa(d2)

+h

&

1 fe
. (Ey f Lx,y"(s)‘p(x) ds—1tg fo,z‘P(x)px(dZ))
0

1 e e
+ - (Ey f Lyyop(x)ds — E,, f Ly, (s5)0(x) ds)]
£ 0 0

= hL,p(x) + h6.(x, )



TEX + BTEX using Computer Modern (default)

Displayed equations:

oo

7 o]
exp(ﬂE):Zf—,, F(z):/ t*~te~tdt.
i=0 0
Inline equations: exp(z) = - Oxl/zl I(z fo #=1e—t dt.
b1
Large parentheses: | ¢ 912 @13 by | =( ).
Q21 QA22 Qa23 bs Co

An example from the AMS “testmath.tex” file:

te
fh,s(za y) = EEz,y/ Lz,ys(au)@(x) du
0

— h / e o 0(@)ps (d2)

1
[t (Ey/ Ly yo(s)p(x ds—tE/Lm,zw(w)pz(dZ))
€ 0
1 - te
t ’

te
(Ey Lz,y“(s)‘P(-T) ds — E, y/ Lz,ya(ss)@(‘r) ds):|
0 0
L 0

= hL,p(x) + ho-(z,y)

+



groff -Tdvi (+ dvips) using Computer Modern (default)

Displayed equations:

(]
Inline equations: exp(z) = > z'/il, T'(z) = [;°¢" 'e " dt.
1
a; Gy @ c
Large parentheses: ( e 13) by | = 1).
Qg1 Gz Q23 b
3
An example from the AMS “testmath.tex” file:

te
fh,s(xa y) = EEz,y/U Lz,yg(su)sﬁ(x) du

1 [ Lop(aloaz)
th [} <E /0 " Lyela)ds 1. / Lw,mm)pw(dz))

&€

1 t. t.
+ t_ (Ey/o Lzy’(s)(p(x) ds — Ezy/o Lz,ya(ss)(p(x) dS):|

= hL,o(z) + ho(z,y)



groff -Tps using Computer Modern

Displayed equations:
00 $i 0
exp(x) = Z > L(z) = /0 t*le tdt.

< 2!
i=

0
1 3 . _ 00 i/z [0 21—t
Inline equations: exp(z) = > .2 '/il, ['(z) = [;~ t*'e”"dt.
1
a;; ap a c
Large parentheses: < e 13) by | = ( 1),
Q21 Q2 A3 b C2
3

An example from the AMS “testmath.tex” file:
tE
fh.a(xa y) = sEm,y A Lm,yf(eu)<)0(x) du

= h/Lm,z@(m)pz(dZ)

1

L (B [ Loppte)ds =t [ Lot

1 t. t.
+ 7 <}3y‘/0v L:zc.,y'f'(s)tp(x) ds — E:t,y/o Lm,yi(as)@(w) ds):|

€

= hL,p(x) + ho(z,y)



groff -Tps using Times and Symbol (default)

Displayed equations:
o i

oo =3 T, T@= [ e

i=0

Inline equations: exp(x) = Y52 x7i!, T(z) = [o* t* e dt.
b,
a c
Large parentheses: (a“ iz di b, |= [ 1).
azy dy 4z b 2
3
An example from the AMS “testmath.tex” file:

t{‘
fh,e(x’ y) = gEx,y JO Lx,yg(su)(p(x) du

=1 [ Locp(p.(d2)

1 fe
+ h|:t (Ey J;) Lx,yx(s)(p(x) ds — Ie J. Lx,z(P(x)px(dZ)j

1 te te
+— Ey Lx,)"(s)(p(x) ds — Ex,y Lx,yf(es)go(x) ds
te 0 0

=hL,p(x)+h6,(x,)



groff -Tps using Souvenir and Symbol
(“hacked” version with “hand-drawn” large parentheses and brackets)

Displayed equations:

exp(x) = Y T—' , I(z) = fwtz‘le‘t dt.

0

i

Inline equations: exp(x) = X% x/il, I(z) = [¢° 7 let dt.
by

a a a c
Large parentheses: < 1 Mz w13 > by | = ( 1).
a1 d22 d23 bs C2

An example from the AMS “testmath.tex” file:

te
fh,s(xyy) = EEx,yJO Lx,ys(su)go(x) du

= h Ly.px)p.(d2)

0

1 te
+h |:t <Eyf0 Ly yx(9(x) ds — tsj Lx,z(P(x)px(dZ)>

1 t. te
+ T (Eyjo Ly yx5@(x) ds — Ex'yjo Ly g (e5®(x) ds)]
£

= hL (x) +ho,(x,y)



